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% % 4 B | B K % % 4 B | H %]
TR — 36X 71 255, 600 BO— 36X 1 3, 600
____________ =} 71 255, 600 —————— i} 1 3,600
B 36X 17 61, 200 BO_ 36X 2 7, 200
____________ = 17 61, 200 - &t 2 7,200
R — 36X 13 46, 800 < 36X 7 25, 200
____________ =t 13 46, 800 el 7 25, 200
o5 A N 36X 5 18, 000 fitt— 36X 5 18, 000
____________ = 5 18, 000 —— 5 18, 000
RE = 36X 2 7,200 fitt — 36X 4 14, 400
____________ =t 2 7,200 el 4 14, 400
EEO— 36X 5 18, 000 fitlk = 36X 1 3, 600
____________ = 5 18, 000 - 3} 1 3,600
e 36X 56 201, 600 F— 36X 3 10, 800
____________ = 56 201, 600 - &t 3 10, 800
" 36X 26 93, 600 ¥ 36X 2 7,200
____________ = 26 93, 600 1 2 7,200
FHE— 36X 10 36, 000 Cc— 36X 36 129, 600
____________ =} 10 36, 000 1 36 129, 600
#O— 36X 14 50, 400 Cc_ 36X 3 10, 800
____________ = 14 50, 400 it 3 10, 800
FO 36X 36 129, 600 Cc= 36X 5 18, 000
____________ =} 36 129, 600 —————— i} 5 18, 000
B 36X 10 36, 000 Chbe= 36X 4 14, 400
____________ = 10 36, 000 1 4 14, 400
L= 36X 11 39, 600 FE 36X 10 36, 000
____________ = 11 39, 600 —— 10 36, 000
B— 36X 10 36, 000 FEO 36X 9 32, 400
____________ =t 10 36, 000 - 9 32, 400
B 36X 5 18, 000 FER = 36X 5 18, 000
____________ = 5 18, 000 - it 5 18, 000
B&E— 36X 3 10, 800 il 36X 14 50, 400
____________ =} 3 10, 800 —— 14 50, 400
| I K 405 | Bk 1,458,000 | (K)= 405 | (/)= 0 ]
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[ = 4 ok | K K% 55 4 R
Bl 3bX 8 28, 800
———————————— Eia 8 28, 800
BIO 36X b 18, 000
———————————— 7t 5 18, 000

Sl M 13| Kok - 46,800 | (K)= 13 | U= 0
B M 418 | #c¥k - 1,504,800 | (k)= 418 | ()= 0 |

=
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